
qm=;+= ljj/0f nfut /sd ?=  s}lkmot

1 cf]nf/3f6] lemdgbLdf emf]n'Ë[ k'n lgdf{0f -7fFp pt/ blIf0f x''g ;Sg] 

_
5,850,000.00       

2 sj/ufx b]lv kf]v/L x'b}+ e}l;ofxL ;fsf] ;Dd gof k}gL lgdf{0f tyf

af6f] lgdf{0f
600,000.00          

3 Jof;hLsf] vl/xfg b]lv d6/f ;'/]z sf] l/s'6 ufl5 ;Dd gofF ;8s

tyf s'nf] lgdf{0f
500,000.00          

4 dxGt dxtf]sf] 3/ b]lv l;ofz/0fsf] 3/ ;Dd ;8s dd{t tyf

sNe6{
50,000.00           

5 en'jfxf dx/fgL dlGb/ lgdf{0f 250,000.00          

6 en'jfxf a|xd dxf/fhsf] 3]/fa]/f 250,000.00          

7 sljnf;L 7f]s/ b]lv gx/ ;Dd k}gL ;/;kmfO{ 100,000.00          

8 j[If sNjf/sf] b'sfg b]lv nIfd0fsf] kf]v/ ;Ddsf] ;8sdf df6f] k'g]{ 50,000.00           

9 cw'/f] gfnf lgdf{0f lg/; dxtf]sf] vl/xfg b]lv gbL ;Dd 250,000.00          

10 ljkt /fosf] 3/ b]lv gfu]Gb| /fosf] 3/ ;Dd ;8sdf df6f] k'g]{ 100,000.00          

hDdf 8,000,000.00       

sljnf;L gu/kflnsf jf8{ g+= ( sf] of]hgfx?


